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KT X b LD
List.map f [st

Bl (’a -> ’b) -> ’a list -> ’b list
Ist PORERIC f zZHEULIEY A MZIRY,

| A

List.filter p lst
B (’a -> bool) -> ’a list -> ’a list
Ist FOERT p ZWIHDDHD') A MZIRT,

List.fold_right f Ist init

Bl (’a -> ’b -> ’b) -> ’a list -> ’b -> ’b
init DNSIBH T Ist DERZAGNS f HELIAD,




U AN DB : B LR

(x ZHEOHET =YD ZANDAE *)

let gakusei_list = [
{namae="asai"; tensuu=70; seiseki="7"};
{namae="tanaka"; tensuu=90; seiseki="7"};
{namae="yamada"; tensuu=60; seiseki="7"};

]
fTWewz &
m & seiseki 71 —ILRICB#EZ AN D,
m BED A DADEZ LT,
m PR ZHT,
m BGED A DADFIIRZ LT,



2% seiseki 74—V RICEEZ AND

(x B ZET—FDJRNCHEZANSD *)
(* hyouka_list : gakusei_t list ->
gakusei_t list *)

let hyouka_list 1lst = []

UZhFROERRICH U TRICAEZTT> T2,

)



2% seiseki 74—V RICEEZ AND

(x B ZET—FDJRNCHEZANSD *)
(* hyouka_list : gakusei_t list ->
gakusei_t list *)

let hyouka_list lst =

JZ NRORBERICH L TRLMEZT> TS, |

List.map hyouka lst



2% seiseki 74—V RICEEZ AND

(x B ZET—FDJRNCHEZANSD *)
(* hyouka_list : gakusei_t list ->

gakusei_t list *)

let hyouka_list lst =

G B Z2ET—F (0 ED) ITHBEZANS )
(* hyouka : gakusei_t -> gakusei_t *)
let hyouka gakusei = gakusei (* RFEAX *)

in List.map hyouka lst



2% seiseki 74—V RICEEZ AND

(x B ZET—FDJRNCHEZANSD *)
(* hyouka_list : gakusei_t list ->

gakusei_t list *)

let hyouka_list lst =
(x B ZET—F (0ED) [CHiEZAND *)
(* hyouka : gakusei_t -> gakusei_t *)
let hyouka gakusei = match gakusei with
{namae=n; tensuu=t; seiseki=s} ->
gakusei (¥ SRFEAX *)

in List.map hyouka lst



2% seiseki 74—V RICEEZ AND

(x B ZET—FDJRNCHEZANSD *)
(* hyouka_list : gakusei_t list ->
gakusei_t list *)

let hyouka_list lst =
x B 2ET—F (0 ED) CHifEZANS *)
(* hyouka : gakusei_t -> gakusei_t *)
let hyouka gakusei = match gakusei with
{namae=n; tensuu=t; seiseki=s} ->
{namae=n; tensuu=t;
seiseki = if t >= 80 then "A" else
if t >= 70 then "B" else
if t >= 60 then "C" else "D"}
in List.map hyouka lst



FAEDY A DA DBZE KT
(x BE: BRIED A DADKERT *)

(*x count_A : gakusei_t list -> int *)
let count_A 1st =0

m XY, BUED A DAZHIH U,
m TDR2EREDU A DR ZREFR W,




FAEDY A DA DBZE KT
(x BE: BRIED A DADKERT *)

(*x count_A : gakusei_t list -> int *)
let count_A 1st =

List.length (List.filter seiseki_A 1lst)

m XY, BUED A DAZHIH U,
m TDR2EREDU A DR ZREFR W,




st FOEFRT p 2\l I HDDHD') X h&EIRT,

(x filter : (’a -> bool) -> ’a list ->

’a list *)
let rec filter p 1lst = match 1lst with
[1 > [
| first :: rest ->

if p first then first :: filter p rest
else filter p rest

(* length : ’a list -> int *)
let rec length 1lst = match lst with
[1 >0
| first :: rest -> 1 + length rest



FAEDY A DA DBZE KT
(x BE: BRIED A DADKERT *)

(*x count_A : gakusei_t list -> int *)
let count_A 1st =

List.length (List.filter seiseki_A 1lst)

m XY, BUED A DAZHIH U,
m TDR2EREDU A DR ZREFR W,




FAEDY A DA DBZE KT
(x BE: BRIED A DADKERT *)

(*x count_A : gakusei_t list -> int *)
let count_A 1st =

(x BB ZE (V0 ED) OEGHED A D ZFANRD *)
(* seiseki_A : gakusei_t -> bool %)
let seiseki_A gakusei = false (¥ KRITAL *)

in List.length (List.filter seiseki_A 1st)

m XY, BUED A DAZHIH U,
m TDR2EREDU A DR ZREFR W,




FAEDY A DA DBZE KT
(x BE: BRIED A DADKERT *)

(*x count_A : gakusei_t list -> int *)
let count_A 1st =
(x BB ZE (V0 ED) OEGHED A D ZFANRD *)
(* seiseki_A : gakusei_t -> bool %)
let seiseki_A gakusei = match gakusei with
{namae=n; tensuu=t; seiseki=s} ->
false (x R5EAL *)
in List.length (List.filter seiseki_A 1st)

m XY, BUED A DAZHIH U,
m TDR2EREDU A DR ZREFR W,




FAEDY A DA DBZE KT
(x BE: BRIED A DADKERT *)

(*x count_A : gakusei_t list -> int *)
let count_A 1st =
(x B ZE (O ED) ORHED A HhEFAND *)
(* seiseki_A : gakusei_t -> bool %)
let seiseki_A gakusei = match gakusei with
{namae=n; tensuu=t; seiseki=s} ->
s = IIAII

in List.length (List.filter seiseki_A 1st)

m XY, BUED A DAZHIH U,
m TDR2EREDU A DR ZREFR W,




YR % HT

(x BR  PEYXNDFHIRZHT *)
(* heikin : gakusei_t list -> int x*)
let heikin 1st = 0

et

B REDGET =Y
B TheFE THE B,



YR % HT

(x B ZEVXNDOFHER[ZHT *)
(* heikin : gakusei_t list -> int x*)
let heikin 1lst =

add_list 1st / List.length 1st

et

REDEET (add_list 1st) ZH T,
FNZzF4H (List. length 1st) THIZ,



List.fold_right f [st init

init NSIRH T Ist DERZGNS f HELIAD,

(*x fold_right
(’a => ’b => ’b) -> ’a list -> ’b -> ’b *)
let rec fold_right f 1st init = match 1lst with
[] -> init
| first :: rest ->
f first (fold_right f rest init)



List.fold_right f [st init

init NSIRH T Ist DERZGNS f HELIAD,

(* fold_right :
(’a => ’b => ’b) -> ’a list -> ’b -> ’b *)
let rec fold_right f 1st init = match 1lst with
[] -> init
| first :: rest ->
f first (fold_right f rest init)

fold_right £ [1; 2; 3] init



List.fold_right f [st init

init NSIRH T Ist DERZGNS f HELIAD,

(* fold_right :
(’a => ’b => ’b) -> ’a list -> ’b -> ’b *)
let rec fold_right f 1st init = match 1lst with
[] -> init
| first :: rest ->
f first (fold_right f rest init)

fold_right £ [1; 2; 3] init
= f 1 (fold_right f [2; 3] init)



List.fold_right f [st init

init NSIRH T Ist DERZGNS f HELIAD,

(* fold_right :
(’a => ’b => ’b) -> ’a list -> ’b -> ’b *)
let rec fold_right f 1st init = match 1lst with
[] -> init
| first :: rest ->
f first (fold_right f rest init)

fold_right £ [1; 2; 3] init

f 1 (fold_right f [2; 3] init)

= f 1 (f 2 (fold_right f [3] init))

f 1 (f2 (f3 (fold_right f [] init)))



List.fold_right f [st init

init NSIRH T Ist DERZGNS f HELIAD,

(* fold_right :
(’a => ’b => ’b) -> ’a list -> ’b -> ’b *)
let rec fold_right f 1st init = match 1lst with
[] -> init
| first :: rest ->
f first (fold_right f rest init)

fold_right £ [1; 2; 3] init
f 1 (fold_right f [2; 3] init)
= f 1 (f 2 (fold_right f [3] init))
f 1 (f2 (f3 (fold_right f [] init)))
f 1 (f2 (f 3 init))



List.fold_right f Ist wnit

init NSIRH T Ist DERZGNS f HELIAD,

(* fold_right :
(’a => ’b => ’b) -> ’a list -> ’b -> ’b *)
let rec fold_right f 1st init = match 1lst with
[] -> init
| first :: rest ->
f first (fold_right f rest init)

List.fold_right (&, & THNANTE,
(List.map ® List.filter H List.length HZD
SSYZSIN)




FERZEHRT
(x BR: FEUINOFHYREET )

(* heikin : gakusei_t 1list -> int *)
let heikin 1st =

add_list 1lst / List.length 1lst



FERZEHRT
(x BR: FEUINOFHYREET )

(* heikin : gakusei_t 1list -> int *)
let heikin 1lst =

(x BYY  PEDOREDEETZHET *)

(* add_list : gakusei_t -> int *)

let add_list 1lst = List.fold_right add 1lst O
in add_list 1st / List.length 1st



FERZEHRT
(x BR: FEUINOFHYREET )

(* heikin : gakusei_t 1list -> int *)

let heikin 1st =
(x B ZFE (VED) DR goukei ICET *)
(* add : gakusei_t -> int -> int *)
let add gakusei goukei = 0 (* RFTAL *)

in

(x BRY : ZEOREOEEZ2HT *)

(* add_list : gakusei_t -> int *)

let add_list 1lst = List.fold_right add 1lst O
in add_list 1st / List.length 1st



FERZEHRT
(x BR: FEUINOFHYREET )

(* heikin : gakusei_t 1list -> int *)
let heikin 1st =
(x B ZFE (VED) DR goukei ICET *)
(* add : gakusei_t -> int -> int *)
let add gakusei goukei = match gakusei with
{namae=n; tensuu=t; seiseki=s} ->
t + goukei

in

(x BRY : ZEOREOEFZ2HT *)

(* add_list : gakusei_t -> int *)

let add_list 1lst = List.fold_right add 1lst O
in add_list 1st / List.length 1st



RAED A DADFIIRZ R

a BEN A DAERET S,
B TORBOEEEET,
B BEN A DANDHTEIS,

(* heikin_A : gakusei_t list -> int *)

let heikin_A 1st =
let 1st_A = List.filter seiseki_A 1lst in
let goukei = List.fold_right add 1lst_A O in
let ninzuu = List.length 1st_A in
goukei / ninzuu

BRERLAICRZDTIEHRL, O&EXFEDHICHKS




KT X b LD
List.map f [st

Bl (’a -> ’b) -> ’a list -> ’b list
Ist PORERIC f zZHEULIEY A MZIRY,

| A

List.filter p lst
B (’a -> bool) -> ’a list -> ’a list
Ist FOERT p ZWIHDDHD') A MZIRT,

List.fold_right f Ist init

Bl (’a -> ’b -> ’b) -> ’a list -> ’b -> ’b
init DNSIBH T Ist DERZAGNS f HELIAD,




EN 2

n A MZE—FINIET 57D DARGRES

List.map f st
List.filter p Ist
List.fold_right f [lst init
List.length [st
nm INSBACEZ DBEHRERSNT WS,
(7:17}[/7&72%13.6\0)

NSO ZE LFICEZSLDICRDE. YRR
RzFTEHTIHFNBET ZREHEHRICETSLSIC
3%,



